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\
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7. (r+2y)(x-2y) = AAEA?

D x-4y @ x? -2y? @ 2x2 - 4y?

@x2 — 4y? ® x? 4 4y?

X2 = (29) = x* - 4y
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@ x®*+2x+15 @x2+2x—15 @ x2-2x-15
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(RAAE e deol) = (712) x (M=)
= (x=3)(x+5)
= x2 +2x-15
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® 9x% + 3xy + )2
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O -8x%-20x-25
@ 16x% 4+ 20x + 25
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= —9x2 + 4y? — 25x2 + 4y?
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(x=y)% = x* - 2xy + 2
@ (x+y)? =2+ 2xy +»*
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® x®>+3x-21 @ x>+6x-15 ® 2x2+3x-15
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=4x% + 14x + 12




30. lolu] /158 the Tt 2ol 3 Wl Zol7) drm o) BAHE )
= 7t29] dol= ym(3x > y) EolaL, Al=9] Zoli= ym EA]

O
=
A2 BE WEY|2 sk, 2] Yol

_-=3T-~ Y.

v -~ v |
" N ~N—
3r| v +~ ~
1
\ Y
/

@© 9x2 + 6xy + y*(m?) @ 9x2 - 6xy + y*(m?)
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@D x? +y? @ x? 4 2xy +y?
G?D)Qx2 +2y? @ 2x% + xy + 2y?

® 2x? + 2xy + 2y?
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